w H — ey s Y = A --
[ ] = 2 =a vaizl==E=

sC ARG

WaARmR 38

w | A 9999999 s P EfE —&R
g CDEE3) S5k OO0 .
27| —
ﬁ K % ENR —ER Iﬂiﬁa(@ T &£ 1 A 1 H|
B | g [VONT CBGEAR AZE BEB  WTEST WO
(o) 2m - 58 \ s (o )
20 ZDfth( ) Z0f( )
XDSELIRITDHZ AL 3HTDEBEEA
wA% | men %' S ) ml 11213456 7
3o |k Sl ol
OEEEN5HTF)

KEFDHTRALTLET WV BR FBRIFTFEUT BHEBOBIE—FZTTIET,

LEEDEBVHFBLERT, XGEBIRFIRATDDNDENEIE—ZRMEFL TS,

M2 F5 H 12 H

L Ve I B KR e FITEST B
* "1EL (0594 ) 86 - 7811
wom ER —8R

[REAEADHE] (HEEUNDHHRET D5EE BANBETT,)

KT RS <A ST B SEETROREAICEELET, S 258 12 A
tHEE =3 _
K& Ef® —EB =R FFr EL
= 511 — 0498 —
VAT JL2ET [T 31 FHith HEE & DR
R A
(%Ff)% (TUAF) d2k 07 /@\ =
K & EfR —BR k@ﬁ% )
S ——
At =
i%f‘ﬁ% AR ERR
SCAH 46,669 =
(7] Exr3nBOHBEIA BERUOEEINN (D)EEXiaikEE 270,000 M
(1) BdE3BOESFRERYN ES2NUOEHEIAR (F)EaRf4ERK 27 H
=T [77]=[1]
(V] —HHRYORA (SR T 5MLLETOMEBTY L) 10,000 M
= [U]1x2,73 % LEFR30,888H
[T] —BERYOIRADZ/3  (Sogfibmiad 50800 HRBIY L) 6,667 M
R BESROBSEEEH BESRORSEED 1/ 30 R4 3250 2 3 ST 55T GTSE3HRE. B
%830,888H)
(7] ERDOEHITKRAIEBEE SBRUOKEDRT @0B% 10 H - 3H = 7 H
(7] ERFHEIOTREE [(T]x[#] 46,669 M
[F] BEEDRICKHRINHREE SERUOAREDIKT ©NDEE 0 M
(V) ERFUETIREE [(H]-1[F] 46,669 M




